FEZs B500-12/C

J0s A

& & &L BY B 44

FFA1S0 6982F11S0 81334nAELL KZDIN 24555FIDIN 24556 FnHE

X FREFIELR, WIROLERHE RIS ZE AT (R
HER i fLocT il &) fisHEER,
> - i —
TREFH T M HEIR EEFRANEIR FHh R4 EnE 2] iz,
C136-C146 C151 Cl41 G145
T [I " 1| S
l | ' C - 141 12
[ 3 -
v | o ~
| = FRAE i L EF (mm)
Uhges
0 - - 141=A B3
180°3Z#EC124 T #C134 IRC144 Y EHINC154 | 44= R HLIF
145=X{ H-E5 F H %
136=25 7 il A&
AR 146=20 14 K&
P @ 151=¥5 AT F E 36
| | 164=37 % H.4
; ; 134=37 4
; ; 124=180"3##
2\ Mi{4: PIEERYLEHE — T
ATTACH. - [ ]
‘ ) @ =
EEER & ROD
T ez il il
T iH| @ Ll E
| 2
25 C-14425 1m:ﬁ*] C-14612 C-14112 C-15112 C-14512 C-13425 C-154 95
32 C-14432 zm;ﬁ*J C-13616 C-14614 C-14114 C-15114 C-14514 C-12414 C-13432 C-15423
40 C-14440 zm;ﬁ*} C-13618 C-14618 C-14118 C-15118 C-14518 C-12418 C-13440 C-15440
22 C-13622 C-14622 Cc-14122 C-15122 C-14522 C-12422
50 C-14450 28 C-13628 C-14628 C-14128 C-15128 C-14528 C-12428 C-13450 C-15450
36H (*) C-13622 C-14622 C-14122 C-15122 C-14522 C-12422
28 C-13628 C-14628 C-14128 C-15128 C-14528 C-12428
63 C-14463 36 C-13636 C-14636 C-14136 C-15136 C-14536 C-12436 C-13463 C-15463
45H (*) C-13628 C-14628 C-14128 C-15128 C-14528 C-12428
36 C-13636 C-14636 C-14136 C-15136 C-14536 C-12436
80 C-14480 45 C-13645 C-14645 C-14145 C-15145 C-14545 C-12445 C-13480 C-15480
56H (*) C-13636 C-14636 C-14136 C-15136 C-14536 C-12436
45 C-13645 C-14645 C-14145 C-15145 C-14545 C-12445
100 C-144100 56 C-13656 C-14656 C-14156 C-15156 C-14556 C-12456 C-134100 C-154100
T0H (*) C-13645 C-14645 C-14145 C-15145 C-14545 C-12445
56 C-13656 C-14656 C-14156 C-15156 C-14556 C-12456
125 C-144125 70 C-13670 C-14670 C-14170 C-15170 C-14570 C-12470 C-134125 C-154125
90H (*) C-13656 C-14656 C-14156 C-15156 C-14556 C-12456
7
160 C-144160 110Hﬂ{*} C-13670 C-14670 C-14170 C-15170 C-14570 C-12470 C-134160 C-154160
200 C-144200 140;ﬂ{*} C-13690 C-14690 C-14190 C-15190 C-14590 C-12490 C-134200 -
250 - 140 C-136140 - - -
320 - 180 C-136180 - - -
® : PJIEFF-SDIN245S4FRHE R R SMREr, VRS WEEERBIITE @R 107

e MEHEC124, C134F1C141 B 2 A FEHSEIC145;
RIS C14BEIE2 4 M .

g,

-C-1411430H. 37 0] FS8 £ 5 b B CK-32/1 484 FE EHM BT CK-32/223%8:,  FHlid BRIC-14514 B H.IFC-14432403%;

- H IR C-1443218 5 ELCK-32 BEB A A B R C(ISO MP )R .

B500 « 1



3| R~ (mm)

C-136 enl | R | KK AX | B | C[CB|CH|CN|EN | H [LF [Nc| AR s
SO 6982
14 [22H | C13616 |[M121,25| 17 | 16 | 32 |105] 38 | 12 |12 | 54 | 14 | 32 | 012 8
18 |28H | C-13618 | M14x1,5 | 19 | 21 | 40 | 13 | 44 | 16 | 16 | 64 | 18 | 40 | 0,23 12,5
_EN _ - A 22 |36H | C13622 | M16x1,5 | 23 | 25 47 |17 |52 | 20 |20 | 77 | 22 | 47 | o0.42 20
(B _ C -
e - - 28 |45H | C-13628 | M20x1,5 | 29 | 30 | 58 | 21 | 65 | 25 | 25 | 96 | 27 | 54 | 0,68 32
8| 36 |56H C13636 | M27x2 | 37 |38 | 70 | 27 | 80 | 32 | 32 |118| 32| 66| 1.4 50
|
= \': 45 [70H| C-13645 | M33x2 | 46 | 47 | 89 | 32 | 97 | 40 | 40 |146| 41 | 80 | 2,08 80
5 —
e 56 [90H | C-13656 | M42x2 | 57 | 58 | 108 | 40 [ 120 50 | 50 |179| 50 | 96 | 4,47 125
X
70 |110H| C-13670 | m48x2 | 64 | 70 |132| 52 | 140 63 | 63 [211| 62 | 114| 7,65 200
%
|
? | » 90 [140H| C-13690 | M64x3 | 86 | 90 | 168 | 66 | 180 80 | 80 |270| 78 | 148| 14,55 320
]
7 j|9 | - |C13690A M72x2 | 91 |100|185| 72 | 195 90 | 90 |296| 85 [ 160 19 490
Ji{._l 10| - | C-136110| M8Ox3 | 96 | 110|210 84 | 210/ 100|100 |322| 98 |178| 28,2 500
B 10| - 1C-1361104 M9Ox3 | 106 | 125|235 | 88 | 235/ 110| 110|364 | 105 190| 32 655
140| - | C-136140| M100x3 | 113|135 | 264 | 103 | 260|125 [ 125|405 | 120 | 200 49,5 800
180| - |C-136180| M125x4 | 126 | 165|326 | 130|310/ 160|160 | 488 | 150 | 250| 85,5 1,250
220| - |C136220] M160xa | 161|215 | 418|162 | 390 | 200 | 200|620 | 195|320 168 2,120
ERFHR KK CX EN |EF |[CH|AX|LF |[EU | N | m& P
FSS:!E{SS foift | TER HFFCES max! 513 | min | min | h13 max,  (KG) ()
DIN 24555 N 12 | 18H | C-14612 [M10x1,25 | 12 Sos | 10 o2 | 20 | 42 |15 | 16| 8 |17 | 0,2 8
14 [22H | C-14614 |M12x1,25| 16 5os | 14 oz [225/ 48 |17 |20 | 11 | 21| o2 12,5
f S 18 |28H | C-14618 | M14x1,5 | 20 42 | 16 no2 |27.5 58 | 19 | 25 | 13 | 25 | 0,38 20
//: " 22 | 36H | C-14622 | M16x1,5 | 25 o2 | 20 woi 32,5 68 | 23 | 30 | 17 | 30| 0.6 32
4. o
28 | 45H | C-14628 | M20x1,5 | 30 012 | 22 bo2 | 40 | 85 [ 29 | 35 | 19 | 36 | 1,16 50
I - -
= 36 | 56H | C-14636 | M27x3 | 40 512 | 28 So2 | 50 1105| 37 | 45 | 23 | 45 | 2,10 80
@, I 45 | 70H | C-14645 | M33x2 | 50 012 | 35 w02 |625[(130| 46 | 58 | 30 | 55 | 3.85 125
56 |90H | C-14656 | M42x2 | 60 015 | 44 wos | 80 [150| 57 | 68 | 38 | 68 | 8,05 200
70 [110H| C-14670 | Ma8x2 | 80 5.5 | 55 DHews 1025185 | 64 | 92 | 47 | 90 | 19,00 320
C-14612, C-14614, C-14618 Kikm# 90 [140H| C-14690 | M64x3 | 100 5, | 70 5o | 120 240| 86 | 116 57 | 110 28,00 500
EBIFER KK |CK|CM|ER |CE| AV |LE |CL|E [EK | ER —
C-141 pe | 2 | MHAFALES HO [A16 |max|is1a | min | min | 13 | mox (KG) )
SO 8133 C-14112
12 (184 & MIOK1,25 10 | 12 |12 [ 32| 14 | 13 | 26 | 29 | 10| 0,06 8
o C-14512
C-14114
o - 14 | 224 | &qaa1 (M1201,25| 12 [ 16 [ 17 | 36 | 16 | 19 [ 34 [ 37 (12| 020 12,5
C-14118
-~ 18 |28H | S14819 | M14x15 | 14 |20 [17 | 38 | 18 | 19 [ 42 [ 45 [ 14| 020 20
ot €145 C-14122
ti“ [ - 22 | 36H | &1as55 | M161.5 | 20 | 30 | 29 | 54 | 22 | 32 | 62 | 66 | 20 | 0.50 32
1 N/ HI t—— :
C-14128
] | . = | s 28 | 45H | <4858 | M20x1,5 | 20 | 30 | 29 | 60 | 28 | 32 | 62 | 66 | 20 | 095 50
R=F ] rp 36 |56 | S14136 | wo7xo | 28 |40 |34 | 75| 36 | 39 |83 |87 | 28| 175 80
| o = nopo C-14536
1 n 1 | u ':':_14"45
Al s 45 | 70H | S14842 | M332 | 36 | 50 | 50 | 99 | 45 | 54 |103|107| 36 | 3,70 125
"‘Kl C-14156
56 |90H | & \jeee | M422 | 45 | 60 | 53 |113| 56 | 57 [123[129| 45 | 5,60 200
C-14170
70 |110H| 12870 | Ma8x2 | 56 | 70 | 59 [126| 63 | 63 |143[149| 56 | 9,30 320
ITC-141 EERRIC- 145+ bl — Rt 90 |140H &12190 1 Meaxa | 70 | 80 | 78 (168 86 | 83 | 163|169 | 70 | 20,90 500
ERFHR KK |Aw| B |cad B K |EM|ER | LE | m .
C-151 e | g | MHARARES H9 | h13 (KG) o)
SO 8133
EM 12 [18H| C-15112 [M10x1,25| 14 | 15 |32 |18 |10 12 |12 |13 | 008 8
~ 14 |22H | C15114 [M121,25 | 16 | 22 | 36 | 22 [ 12 116 |17 | 19| 015 12,5
ey A 18 |28H | C-15118 | M14x1,5 | 18 [ 25 | 38 | 20 | 14 | 20 |17 | 19| 022 20
5| 1) !
-------- 5] 22 |36H | c15122 | M16x1,5 | 22 | 35 [ 54 | 30 | 20 | 30 | 29 | 32 | 0,50 32
1] | =< 28 |45H| C-15128 | M20x1,5 | 28 | 40 | 60 | 30 | 20 | 30 | 29 | 32 | 110 50
‘| i‘ L 36 |56H| C15136 | M27x2 | 36 | 50 | 75 | 40 | 28 | 40 | 34 | 39 | 1.50 80
I 1] q 1] 1]
i
Ll Il 1L 1L
45 [70H| C-15145 | M33x2 | 45 | 70 | 99 | 50 | 36 | 50 | 50 | 54 | 2,50 125
‘KI{| CB
; - = 56 [90H | C-15156 | M42x2 | 56 [100|113| 65 | 45 | 60 | 53 | 57 | 4,20 200
70 [110H| C-15170 | Mma48x2 | 63 [116|126| 90 | 56 | 70 | 59 | 63 | 11.80 320
90 [140H C-15190 | M64x3 | 85 | 160|168 |110| 70 | 80 | 78 | 83 | 17.00 500

BS0O « 2



ERFEE | . |CK|CL|CM|FL |HB |LE [MR|RC |[TB |UD |UH | mm _—

ggzaﬁsz o | | HERIS | o s A12 |is12 [ H13 | min. |maxis14 |is14 |max]max| o) o

a 14 |29H  c12a4 |12 | 28 |12 34| 9 |22 |12 20|50 | 40| 70| 0.3 8

i, |
18 128H c-12418 | 16 | 36 |16 |40 | 11 | 27 | 16| 26| 65| 50| 90| 0.59 12,5
% v/ 22 |36H| Cc12422 | 20 | 45 | 20 | 45 | 11 | 30 | 20| 32 | 75 | 58 | 98 0,9 20
y B B | | . .
28 |45H | C-12428 | 25 | 56 | 25 | 55 [135| 37 | 25 | 40 | 85 | 70 | 13| 1.6 32
B w g 1 | 1 1
= 2 | 36 |56H| C-12436 | 32 | 70 | 32 | 65 [17.5| 43 | 32 | 50 | 110 85 | 143| 2.8 50
e, vl Cl

% / ] | 45 |70H| C-12445 | 40 | 90 | 40 | 76 | 22 | 52 | 40 | &5 | 130|108 170 5 80

T8 R 56 |90H | c-12456 | 50 | 1101 50 | 95 | 26 | 65 | 50 | 80 | 170|130 220| 10,1 125

= = 70 110H C-12470 | 63 |140| 63 [112| 33 | 75 | 63 |100|210|160|270| 15.4 200

90 140H| Cc-12490 | 80 | 170 80 |140| 39 | 95 | 80 | 125|250| 210 | 320| 30 320
oz |CF|UK W [cGlcP MG [ [1A [RE [HB [LO TSR [colkc [Fo |Gl | ma | sims
C-134 EEAE | KRB o on+pal4 g1 513 |i513 max, HO 513| ko) | o0

DIN 24556
25 C-13425 |12 |60 | 75| 10|30 |40 |28 |29 |40 |55| 9 | 561121103316/ 46 052| 8
LD [P

32 C-13432 | 16 (80 | 95|14 (40|50 | 37 |38 |65 |70 (11 (7416|1643 18 |61 1.05| 125

%% 40 C-13440 |20 |90 |120| 16|50 | 65|39 |40 | 58 |85 13,5/ 8020|1643/ 20 64| 1,72 | 20
%

— — 20 C-13450 | 25 (110(140| 20 | 60 | 65 | 48 |49 | 70 |100\15,5) 98 | 25 25 |54 22 78| 272 | 32

T
i 3 éﬁ = 63 C-13463 | 30 |135(160| 22 | 70 | 85 | 62 | 63 | 90 [115(17.5/120/ 30 | 25 |5.4| 24 | 97 | 5,15 | 50
- - 80 C-13480 | 40 [170{190| 28 | 80 |100| 72 | 73 |120[135| 22 [148| 40 | 36 18,4 24 [123] 9,3 | 80
o ] . 100 | C-134100| 50 |215(240| 35 [100[125| 90 | 92 [145(170| 30 (190! 50 | 36 |8,4| 35 |155| 18,3 | 125
™ w 125 | C-134125| 60 |260(270| 44 [120[150(108[110(185|200| 39 |225/ 60 | 50 11,4 35 |187| 35 | 200
a
160 | C-134160] 80 |340(320| 55 [160[190(140(142(260|240| 45 |295! 80 | 50 11,4 35 |255| &3 | 320
[l 4
200 | C-134200|100[400[400| 70 |200(|210/150(152|300(300| 48 |335/100| &3 12,4 35 285 109 | 500
C-144 | g |CK| E |EM|FL |[MR|LE |AA |[HB | R o —
R - T 25 | C-14425 | 10| 40 |12 | 23 | 12 | 13 | 40 | 5.5 |28.3] 0,30 8
EM
r - - /"E' e 32 C-14432 | 12 | 45 |16 | 29 | 17 | 19 | 47 | 6.6 |33.2] 045 12
! $ A0 | c14440 | 14 | 63 | 20|20 |17 | 19| 59 | 9 |41.7] 090 20
P __I-_I-_‘
| 50 C-14450 | 20 | 75 | 30 | 48 | 29 | 32 | 74 [13,5|52,3] 1,30 32
. - 1A o )ﬁ‘ 63 | C-14463 | 20 | 90 | 30 | 48 | 290 | 32 | 91 |13.5(64.3] 1.90 50
,"""? ]
g // 80 C-14480 | 28 [ 115 40 | 58 | 34 | 39 [117/17,5|82,7| 4.00 80
@ 1 ] 100 | C-144100| 36 [ 130 50 | 79 | 50 | 54 | 137 |17.5(96,9| 6.25 125
! - 125 | C-144125| 45 [165| 60 | 87 | 53 | 57 | 178 24 1259 11,40 200
- - 160 | C-144160| 56 [ 205| 70 | 103 | 59 | 63 | 219 30 1549 20,80 320
200 | C-144200| 70 | 245| 80 [132| 78 | 82 | 269 | 33 [190.2 38,80 500
B _ CRIFK [FN [HB [NH|TH UL [CO|KC [FH [ BS | ma —
E&:g‘:ag WRIE | BB 5o o max| 13 |max| 514 [max] N9 or0dmax| H16 | (6) 00
25 C-15425| 12 | 34 | 49 | 9 |17 | 40| 63 | 10 | 33| 25| 8 0,46 8
32 C-15432| 16 | 40 | 59 |11 | 21 |50 | 80 16 43| 30| 10| 083 12,5
A — | %/\ff
)/:\_ 3 w _I:\ A0 C-15440| 20 | 45 | 69 | 11 | 21 | 40 | 90 | 16 | 43| 38 | 10 1,21 20
ﬁ { E :{J & . 50 C-15450| 25 | 55 | 80 [13.5| 26 | 80 | 110 25 |54 | 45 | 12 | 215 32
[ | -
I 77 o AE 63 C-15463| 32 | 65 | 100175 33 110|150 25 | 54| 52 | 16 | 4.63 50
1 /:/ a i"’/f i | | |
5 . ' 80 C-15480| 40 | 76 |120| 22 | 41 [ 125|170 35 | 84 | &0 | 16 7,78 80
. R - TH A 100 C-1541000 50 | 95 (140 26 | 51 | 140|210 36 | 84 | 75 | 20 14,3 125
L
125 | C-154125 63 [ 112177 ] 33 | 61 |200| 265 50 (11.4| 85 | 25 | 23,4 200
B EIEF LIS 160 | C-154160 80 | 140/ 220| 39 | 81 | 250|325 50 |11.4| 112 | 31 53,1 320

B500 « 3



	B500-1.gif
	B500-2.gif
	B500-3.gif

